
PEM 9953 -1

NE
418334. 0,





2

T. KinUMe
1,2,3,45, 0, 48, 9,10,

m kliimme
4, 11.330445) 16,14, 1879KA

MIT KÜMMUL

2,1, 14,23.24, 255 20, 24,1323%

3,3389RS, 38,39, 40,
34,

14,42, 43,134, 48,AJA, 43,49, 50
5,54JD 53,53; 60,

ena,AE,, 09, 10,2aa 18:79t klunme 1,18.4330

8, 8283.31.54 84,38, 39,90,
94,9%,93, 94,95, 90,91, 98,39 ,400.















4, 44. 24,34, 44, 54, 64 44, 84; 91,

[2,22 83, 42, 52, 62, 12, 32, 92,
3,13, 23, 33, 49, 53, 63, 49, 33, 93,
4,14,24,38, 44, 54, 04, 44, 34, 94
5 415,25,95, 45,55, 65, 15, 35, 95
6 16, 26, 36, 46, 56, 06, 46, 3, 96
114K 2954 94 SE GTR INF 814

18 28 58 48 53 63 75 33 93
949 29 39 49 59 69 49 59 99
10 20 30 40 30 60 FO 30 90 100









44

30 +40 +2.0= 30

40 +20+40= 19

46 +410 +2.0=109
146 +30— 99

4040 +10° 90

50 +20 +20= 90
30+30130= 90

204 40+40=400
50+20+102 80

=100
16 ++0+ 80

2.0+40+50> 4
130+40 = 40

40 126 +307 90

60+40 +3 02100

20+" + 40=100

0+30 +40= 100

2040 +40=190
40 + 00 +30=

+0



rkPPEEEEE

2 IEPTaobtülsd
Pl khishätilisud, on:







Jüriga
flJussiLka



20+30+40

Oo

ooo

a
au

7°

“

S=

vabgS

ST

INT

OSS

LO

oos

ERT

an

200

EO

5365?

+

1%

Mmn9

oo

Oco

pii

uig

Poon

9

oeovooo

°°0

ONo

kand

KoGese
SON

mu

11

S2s0

Looso

TARKB

RTR

Mn

n

13

G0oo0

onocoo

OT

ROM

ir

A

TO

riid

44

+

AN

Goooo

28009

Orroe

MOTT?

RT
«

5s

“-OO
ken

20

MOON

O

Aki
Np

n
SOOGSOORoOnNRTF

Si
+

++

°

Soo

TR<+M

Oi

EU

E

|

Do

100

0°

+++dr+

OOO

LOO

KRIF

ST

NO5Wu

M

T

OT

MO

DeOSR

+
et

Uuud

s)

RITSO

se
a

+4t++

oc

AR

MTOI

a
i

lis

sS222°2

=D

OKO

SO

TRTO



48

-30—10+60= Lago raondoriede

KO Aeaaenla0-30440=60 S= 10 +30-60 90770
100-3 2
40- 30-40 +80=30 (0-404 80-60 +30=90

40+30-50+60=1 00
4 0-40-20 +60=t+0 100-

40+50 +10-40=30
2,0 +210 +30° 50=

30++0-30+7.0—00=0
20:40-30+20° Ko= 0
%0+40-+0+50—30=0
N10+ 20-90 +60— 10=0
40+40—30+ 407 20=0



Vere Hr or
|

AMn hn
Nr Jar Mun / nu rai ir Mn

Hr Jorv Jiri
Arre

Mr Men

lii Mm Jrkr Ar arv
Harv Kry Mun Mn Her Hm





Ja, ku Ka, ka, Karhu, Ka. ;

Jo; ÄÄR, Šüs, aia, Ja, TATA
ahi,iRongiona
22x4-20+1673x13|. 4ot85-lkocap36+5—410 +60-$= 34 10+63-40=853
J4AU—+0+40-3=68. <

02+1— 40+20-4=431142 — 601 30-5>94

4b— 4+70-30+3=234
59 — 5+40-5014=5845- 4+80-40+8=39
41— 5 +30-10+5=65
95—1 +40—40+5=39


